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The graph of the exponential function flx} = 4(0.5F" + 2 is shewn.
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Part B

Multi-Part Technology Enhanced March 18, 2019, Monday

March492046Fuesday—

Factor each completdy. March 20, 2019,
3 25p2-4 0= Op bz2 Wednesday

(5p+2)X5p~2)

Algebrg 1 B Day 1 Solving Quadratic Equations by Factoring
Ifa"b ~0.then eithera=0,or__Ja = ) . In other words, when two expressions are being
of 2600

ExcIF3 b = 0,then b mustbe equalte O orifa-5 = 0,then “a” must be equal to_ (3

Xe2x-15y&olad

Afow more exampls /

172+ (- ) = 0, themither 2 +7 = 0,0 X Y -o.

How to solve these equations:
Original Problem GING-H=0
Step 1 - Set each expression equal tozero | (x+3) =0 X-5:=0
xt3=0 “5-0
Step 2. Solve each equation =0 R
Answer - There should be 2 =-3 X=8

axtye

Try another: (2x + 3)(x —4) =0,

MOST OF THE
already factored like: (2x + 3)(x — 4) = 0

Original Problem

Step 1 - Factor C+HE+D -0

Sop2-Seceschexpresionequattozero | X ;/:o X+ % 0
- - ’5 — -

Step 3 - Solve cach equation

Ansuwer ~ There should be 2 =3 X=-

%ﬁl/"‘f’l,aanswery_n_j_l-
repeod x=3, X= %

Solve each equation by factoring.

%) (2x-73x-7)=0 9) (r+7)r=1)=0
Cho
OIS(’ 10) Wy +7)=0 1) 3N+ 7)=0
12) K -k-42=0 13) p-9p+20-0
Se

th 16) 7K 860 17) Tt 4 10n -8 -0

18) 7% - 126-4=0 19) 2% 4 15y 25 =0

Hint-3n-4 f—3—Ll 6 r -1 =r b\
(N+1Xn- ) £y 1 Ar-1
2 [ -
| 24 19n-%0 ~ q
N2¥18n-129 22
(n- SXn +2)) NE
-5
(3n- 5)(h+8) lZ()ZL{
S:;lvlngQuadmncsbyl’actmmg e
Sl s T

Y=-5 Y ve=? 5%\-_—_1 ez T@”'u"
G

SV 3, ap

3
(v-1)v+3)=0-1 ?'4- (m-2XmE5)20 -><S
- ™ =0
*lﬂo'%va_ _g~| S m~€-*01 22 0
l,‘\k V= vz} M= 2 m=-5
R s 90N X ormo pp kInco0
iva v\z [ wY-1 n(nn)o

Algetra 1 ) Name
TOTD Solve by Factoring.

Solve each equation by factoring.

1) (r-8N8r-1)=0 2) 0’ <6n=0
3) 7+ 105160 4) 5K+ 116+ 6=0
5 n-16=0
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Algebra |
TOTD Solve by Factoring
Solve each equation by factoring.

D x+1)e+7)=0

3 F-a9=0

5 nten=0

Name,

2 po6p+5=0

4) 207 - 130-7=0

March 20, 2019

Item 18

March 19, 2019, Tuesday

Constructed-Response

Shaun recycles bottles and cans. He earns 10 cents for each bottle he recycles and § cents for each
can he recycles. After recycling a bag of bottles and cans, he gets a receipt that states he eamed
$12.75 and recycled a total of 210 bottles and cans. To determine the number of bottles and the
number of cans he recycled, Shaun writes the system of equations below.

Part A What does the x represent in terms of the situation? Write your answer in the space
provided.

Part B Shaun graphs lines to represent the equations in his system. What are the coordinates of the
point where the two lines intersect? Write your answer in the space provided.

x+y=210
10x + By = 1275

Part A

Part B

Algebra 1~ Unit 38 Day 2

« Asquare root is written with the radical symbol
o i

Solving Quadratic Equations by Square Roots
MGSES-12.4REL4: I can solve a quadratic equation with one variable

PP« take the
*  Thegoal is to get the variable squared by itsell!
What do you think we shauld do? ON: step:
T x2=25 =32
Solve the following TWO Step equations:
3. x-7=9 4. x*+13=5
5. 2x2=14 6. -3x* =48

Solve the following THREE step equations:

757 45=410

Solve the following MULTI step equations:

8 Grar=1

o GrariT=

10.4(: - 107 =25

1L3(x +3)*-12=0

Algebra 2

DB eap=0

By

7) 36 +7=71

Name,

TOTD Solving Quadratics by Factoring/Square Roots

Solve each equation by factoring or taking square roots.

2 b= 5h-6=0

4107 =17 +3=0

6 strs=12

8) (-4

Algebra 1 ~ Unit 38 Day 3 Name

1 Xa=29 2 %-7=47 3 ¢+11=16
4 (x+4) =121 5. (-3 =9 6. (x-7) =99
7. (x+3)+6=18 8 (26 -8=2¢ 9. X*+21=5
10.3(x+4)' =9 1L.3(x¢ ~4)=20 1 12.5-3-7
g2 e

TOTD Solving Quadratics by Factoring/Square Roots
Solve cach equation by factoring or taking square roots.

Dm=3me2=0 9

3w -16=0 4 2ve6=0

5 =16

7) 822390
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Algebra 1 ~ Unit 3B Day 3
MCC9-12AREL4b: I can solve by completing the square.

March 20, 2019, Wednesday % Certain be factored into

Trinomials:

X4 6x ¥ - 10x X4 12x
e 15 +6x49 105425 +12x436
Selected-Response
The table dofines. a quadratic function. 4 Creating a Perfect Square Trinomial
o Inthe following perfect square trinomial, the term s missing.
o torm by taki ingit. I
blank - we say that this number “completes the square.”

o+t
Item 14
B

SelectedResponse

: ‘perfect square trinomials:
Wnieh value s an irrational number? What is the average rate of change between x = 1 and x = 17
A aeiT X4 2084 X -axd Xt xt

»

undefined

B. 1218

Sove o Tollwing squatan oy compatng the
ot ooty completne x*+8x-20=0

Step 1: Get all variables on one side and all numbers
without variables on the other side.

N

Step 2: Find the mumber that completes the square on | .2
the lef side of the equation. add that term to both 8+ =20+
sides.

Step3: Factor the perfect square trinomial on the left
side of the equation. Simplify the right side of the
equation.

Step 4: Take the square root of both sides.

Step 5: Set up the twa solution possibilities and solve.

‘Step 6: CHECK YOUR ANSWERS!!!

Let's ry!

Solve each equation by completing the square. Algebral i Name

1) FP+14r-45=6 2) m*-16m+24=2 MCC9-12AREL#D

Solving Quadratic Equations by Completing the Square.

1. Rewrite soall terms containing x are on one side.

1o both sides,

the equation.

Take the square root of each side.
Solveforx.

Check your answers!!!

SIS

Solve each equation,

1 3¢ -10x-54=0 2. % -18x477=0

3. X +20x-73=0 4 XX

5. X -10-56=6 6. X -1ax-75=8

Algebra 2 Name. Algebra 2

Name,

TOTD Solving Quadratics (Factoring/Sq. RootCompleting the Square) TOTD Solving Quadratics (Factoring/Sq. Root/Completing the Square)

Solve each equation by factoring. Solve each eq

fon by factoring.

- 8k=0 2 - 16=0 1w dn-21-0 2 x-9-0

3) X749+ 140 4) Sm’ = 23m-10=0 3) " —6n=0 4) 27 +15r-8=0

Solve each equation by taking square roots. Solve each equation by taking square roots.

6) 45 +3=403

Solve each equation by completing the square. Solve each equation by completing the square.

7 ¥ -dxs3o0 ) £ 212643520 78 16n-36-0 §) 0 16n460-0
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Algebra 1~ Day 4

Solving by the Quadratic Formula Notes
‘The solutions of any quadratic equation (ax? + bx + ¢ = 0) can be found by evaluating the quadratic
formula:

P CF (b)? — 4(@)(9)

2(a)
Examples: Use the quadratic formula to solve for x
1227 —10x-5=0

2.9 42=3x

March 20, 2019

March 21, 2019, Thursday

1. What is the y-intercept of the graph of hix) = 2' - 47

2. What is the range of the graph of flx) = -3(x - 4)7

Algebra1~Day4

Solving by the Quadratic Formula Notes
‘The solutions of any quadratic equation (ax? + bx + ¢ = 0) can be found by evaluating the quadratic
rmula

Examples: Use
1.2¢% — 100

290242 =3¢

—() £V ®)? - 4@
2(a)

the quadratic formula to solve for x
-0

9) 207 =5 +3a=-10-8a" +3a

13) 264 1k-138 20

14) Gt e Tn-20- -7
A 6,115 a7,
B) No solution. B) l6.-15]
©) 12231, 7731 ©) 19.809,-9.5899]
D) (18471, 741 D) 12167
15) 48 =25 16) 67 Tx 64 =4
A

A) 2833, 4

) (2.5, -2.5) B) {12458, -5.458]
©) 1066705 ©) 11198, 2365}
D) 1125.-1.25] D) 2.-65

10) "+ 8m =91 +2m

as=ou 12) 127 0p - 44=dp s 8p7

Algebra 1 ~U3B Day 4
Solving by the Quadrati

ic Formula

Solve each equation with the quadratic formula.
1) 40 -9=0 2) 6% +8p-30=0

3) 6b+ Th-68=0

457+ 11=0
5) P edro69=-9 6 207~ 58=-8
8) 4b?= 144

Algebra 1 Name
TOTD Solving Quadratic Equations (any method)
Salve each equation

our way (by factoring
formulz). SHOW ALL OF YOUR WORK!

0t e2p-143=0

re root, completing the square, or quadratic

2 4 -9-0

3) 4= Tx-15=0 4 atea-21=0
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Algebra | Name,

TOTD solvmg Quadratic Eqnmmne (any melhnd)
. or quadratic

ay (by
Tormuin, SHOW ALL OF YOUR WORK':

1 2p-143=0 2) 4r'-9-0

4 4 +3v-27=0

March 20, 2019

March 22, 2019, Friday

Item 13
Constructed Response.

Of the data? Write your answer in the space provided.
iswer in the space

PartB  Explain why the median should be used instead of the mean. Write your a
provided.

EOC released...close
reading...so many details!

G.O. then quiz...

X*+5x +6=0

SOLVING A
EQUATION

AR
WY,
QUADRAT\O\ |

— MOST —
GOMMON

(,“mﬂ X4+5x +0= O
(x4 x4 2)=0

x+3=0 Xx+2=0
x=-3 X=-2

SOLVING A
QUADRATIC
EQU/\T\ON

AETING
ﬂc,;%Ms@uAKé

egx+1l=0
xZ+gx = "1l
w2 rgy v 1o =—{]+16
CFRCTOR:

(x+4)*=5

SoUATONS

Vo= 15
with = %NS
x="4*1E NO RERL
SOLUTIONS
ONEFEhL COMPLEX)
2 @EAL v (Two COMPIEX.

(QUADRATIC
FORMULA

A3 Y =40
e
=6 v= 2iNio
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